Page 75-85

Bounds on the Wave Speed By Dr. Ali Hussein Shuaa Al-Taie University of Wassit College of Mathematics and Computers Science Department of Mathematics 2012 E-mail: <u>shuaa2@yahoo.com</u>

 Recived :30\4\2013
 Recived :8\10\2013
 Accepted :21\1\2014

Abstract

In this paper, we will investigate the structure of bounds for the wave speed *c*presented in [1]. By constructing appropriate sub- and super-solutions to this system

-cu' = u'' + f(u, v), $-cv' = \epsilon^2 v'' + g(u, v),$ $(u, v)(-\infty) = S_{-},$

 $(u, v)(\infty) = S_+ \quad (1)$

Where, we are interested in component-wise monotone travelling wave solutions of the system of equations

 $u_t = u_{xx} + f(u, v),$

$$v_t = \epsilon^2 v_{xx} + g(u, v), \tag{2}$$

for $(x, t) \in \mathbb{R} \times \mathbb{R}^+$ for which the asymptotic conditions

 $(u, v)(-\infty, t) = S_{-}, (u, v)(\infty, t) = S_{+}, t > 0$ (3)

are satisfied. Similar to those introduced in [3] and using essentially identical arguments, itcan be shown that

$$-K \le c \le L\epsilon, (4)$$

where *K* and *L* are positive constants independent of ϵ . One immediate consequence of this result is that in the limit $\epsilon \rightarrow 0$ only left travelling waves exist. We investigate the sharpness of these bounds in the special case of CLV kinetics. We show that: the bounds of the wave speed given in [4] are optimal for the given left right solutions (sub-solutions and supersolutions).

Mathematics Subject Classification :35A18

Introduction

The method of sub-solutions and super-solutions and its associated monotone iteration is a powerful tool in establishing existence results for differential equations. This method can be applied to systems of coupled equations and to equations with nonlinear boundary conditions. The basic idea of this method is to use a sub-solution or super-solution as the initial iteration

75

Ali.H

in a suitable iterative process, so that the resulting sequence of iterations is monotone and converges in some suitable function space to a solution of the problem.

The underlying monotone iterative scheme can also be used for the computation of numerical solutions when these equations are replaced by corresponding finite difference equations, see [7]. Note that in some literature sub-solutions and super-solutions are sometimes referred to as lower and upper solutions or sub-functions and super-functions, respectively, see again [6]. Another use of sub-solutions and super-solutions is to obtain bounds for the wave speed of travelling waves. It is this subject that we concentrate on in this paper. In [4], Heinze*et al.* stated the following theorem and proved it by considering upper and lower solutions (or left and right solutions as we called them below) of a particular form, as we will discuss below.

Theorem 1.[2]. For each fixed $\epsilon > 0$, let $(u_{\epsilon}, v_{\epsilon}, c_{\epsilon})$ be the unique monotone solution of equation (1). Then

$$-2\sqrt{L} \le c \le 2\sqrt{K}\varepsilon,\tag{5}$$

where

$$K \coloneqq \sup_{0 < v < 1} \frac{g(0, v)}{v} \text{ and } L \coloneqq \sup_{0 < u < 1} \frac{f(u, 0)}{u}$$

Note that the upper bound implies that as $\epsilon \to 0$ the only type of travelling waves that can exist are left travelling waves.

Heinze*et al.* [3] choose a specific structure for left and right solutions (which will be discussed below) to obtain these bounds. This structure was introduced with no motivation and also it is not clear whether the wave speed bounds obtained are sharp for the given form. In this paper we investigate these bounds further for the special case of the CLV kinetics $f(u, v) = u(1 - u - \alpha v)$,

 $g(u, v) = \delta v(1 - v - \beta u).$ (6) We are interested in systems that satisfy this Assumption below:

Assumption 1. *The non-linearities f, g* $\in C^2([0, 1]^2, \mathbb{R})$ *satisfy:*

(1) f(0, v) = 0 = g(u, 0).

(2) (1) has exactly two stable, uniform equilibria $S_{-}=(0, 1)$ and $S_{+}=(1, 0)$ and two unstable, uniform equilibria (0, 0) and (u_s, v_s).

 $(3) f_{v}(u, v) < 0, g_{u}(u, v) < 0$ for $(u, v) \in (0, 1)^{2}$.

(4) The non-trivial solutions (u, v) of g(u, v) = 0 are given by $u = \Gamma(v)$ for a

monotonically decreasing function Γ . Setting $\Gamma(1) = 0$ and $\Gamma(0) = \hat{u}$, where

 $0 < \hat{u} < 1$, Γ has an inverse $\hat{y} \in C^1([0, \hat{u}], [0, 1])$, which can be extended trivially to a function $\gamma \in C^0([0, 1], [0, 1])$ where

$$y(u) = \begin{cases} \hat{y} & u \in [0, \hat{u}], \\ 0 & u \in [\hat{u}, 1] \end{cases}$$

Moreover, $\Gamma'(v) = 0$ implies Γ has a local maximum.

Ali.H

Alternatively, if we make the substitution z = x - ct, but do not assume that the solution is a travelling wave, *i.e.* if we assume (u, v) is of the form (u(z, t), v(z, t)), then (1) becomes $u_t - cu_z - u_{zz} = f(u, v)$,

$$v_t - cv_z - \epsilon^2 v_{zz} = g(u, v). \tag{7}$$

Any solutions u(z, t), v(z, t) of (2) provides a solution u(x, t), v(x, t) of (1). Moreover, travelling waves are steady states of this system (ut = vt = 0). Below, we will apply subsolution and super-solution techniques (from [7]) to system (2).

In order to employ the comparison solutions mentioned above, the following definitions and results given in [7] are required.

Definition 1.*A function* Q(u, v) := (f(u, v), g(u, v)) *is called* quasimonotone nonincreasing *in* $\mathbb{R}^+ \times \mathbb{R}^+$ *if both* f(u, v) *and* g(u, v) *are* quasimonotone nonincreasing *for* $(u, v) \in \mathbb{R}^+ \times \mathbb{R}^+$, *i.e.*

 $\partial f/\partial v \leq 0$, $\partial g/\partial u \leq 0$ for $(u, v) \in \mathbb{R}^+ \times \mathbb{R}^+$.

Definition 2. If Q(u, v) := (f(u, v), g(u, v)) is quasimonotonenonincreasing $in\mathbb{R}^+ \times \mathbb{R}^+$, then a pair of functions $\widehat{\omega} = (\widehat{u}, \widehat{v})$ and $\widetilde{\omega} = (\widetilde{u}, \widetilde{v})$ are called ordered sub-solution and super-solution of (2) if they satisfy the relation $\widetilde{\omega} > \widetilde{v}$ and if

$$\widetilde{u}_{t} - \widetilde{c}\widetilde{u}_{z} - \widetilde{u}_{zz} - f(\widetilde{u}, \widetilde{v}) \ge 0 \ge \widetilde{u}_{t} - \widetilde{c}\widetilde{u}_{z} - \widetilde{u}_{zz} - f(\widetilde{u}, \widetilde{v})$$

$$\widetilde{v}_{t} - \widetilde{c}\widetilde{v}_{z} - \epsilon^{2}\widetilde{v}_{zz} - g(\widetilde{u}, \widetilde{v}) \ge 0 \ge \widetilde{v}_{t} - \widetilde{c}\widetilde{v}_{z} - \epsilon^{2}\widetilde{v}_{zz} - g(\widetilde{u}, \widetilde{v})$$
(8)

Note that in this section it is actually combinations of sub-solution and supersolutionthat are useful in obtaining our results. We therefore make the following definition.

Definition 3. We say that $(\underline{u}, \overline{v})$ is a right solution of (2) iff<u>u</u> is a sub-solution and \overline{v} is a super-solution. Similarly, we define a left solution to be apair $(\overline{u}, \underline{v})$ where \overline{u} a super-solution and \underline{v} is a sub-solution. Hence, a direct consequence from the Definition 2 in [7] we have that that $(\underline{u}, \overline{v})$ is a right solution of (2) iff it satisfies

$$\widetilde{u}_{t} - \widetilde{c}_{r}\widetilde{u}_{z} - \widetilde{u}_{zz} - f(\widetilde{u},\widetilde{v}) \leq 0$$

$$\widetilde{v}_{t} - \widetilde{c}_{r}\widetilde{v}_{z} - \epsilon^{2} \widetilde{v}_{zz} - g(\widetilde{u},\widetilde{v}) \geq 0$$
(9)

and $(\overline{u}, \underline{v})$ is a left solution of (2) iff it satisfies

$$\widetilde{u}_{t} - \widetilde{c}_{l}\widetilde{u}_{z} - \widetilde{u}_{zz} - f(\widetilde{u},\widetilde{v}) \ge 0$$

$$\widetilde{v}_{t} - \widetilde{c}_{l}\widetilde{v}_{z} - \epsilon^{2} \widetilde{v}_{zz} - g(\widetilde{u},\widetilde{v}) \le 0 \quad (10)$$

We know that if we have a sub solution super-solution, then a solution must lie between that sub-solution super-solution. In the CLV case, then in the bound (1), we have

$$K := \sup_{0 < v < 1} \delta(1 - v) = \delta$$
 and $L := \sup_{0 < u < 1} (1 - u) = 1$

In this chapter, we will show that these values are optimal for the form of leftand right solutions introduced in [4].

In order to do this we reformulate the left and right solutions.

i) **Right solution**:

Following [3] we define the right solution:

$$\overline{c} = c_r,$$

$$\underline{u} = u_m \max\{1 - e^{Fz}, 0\},$$

$$\overline{v} = \begin{cases} \min\{v_m e^{T_z}, 1\}, & z \leq \frac{M}{\epsilon}, \\ \frac{1}{2} \overline{v}(\frac{M}{\epsilon})(1 + e^{S(z - \frac{M}{\epsilon})}), & z > \frac{M}{\epsilon} \end{cases}$$

where $z \in \mathbb{R}$, F < 0, T < 0, S < 0, M > 0 and $c_r \ge 0$ are constants to be defined later and $\epsilon \ge 0$, (see Figure 1).

We seek values of *F*, *T*, *S* and *M*, that give the smallest value of c_r , *i.e.* the sharpest right bound on the wave speed. First, note that $\underline{u}_t = \overline{v}_t = 0$. Hence we must choose u_m and v_m so that $f(\underline{u}, \overline{v}) \ge 0$.

First consider the equation for *u*. For z < 0, $\underline{u} \equiv 0$. Therefore,

$$c_r \underline{u}_z + \underline{u}_{zz} + f(\underline{u}, \overline{v}) = 0 = \underline{u}_t.$$

In the case z > 0,

$$\underline{u} = u_m(1 - e^{Fz})$$



Figure 1: The right solution $(\underline{u}, \overline{v})$, shown in (blue, red) and the solution(u, v) of system (2) shown in black.

By

$$f(\underline{u},\overline{v}) = u_m(1-u_m-\frac{\alpha}{2}v_m e^{\frac{TM}{\epsilon}}),$$

it follows that $f(\underline{u}, \overline{v}) \ge 0$ because $v_m \in (0, \frac{1}{\alpha}(1-u_m))$. Therefore,

$$c_r \underline{u}z + \underline{u}_{zz} + f(\underline{u}, \overline{v}) \ge c_r \underline{u}_z + \underline{u}_{zz}$$

 $c_r \leq -F_{.}$ (11)

Thus, we ensured that the first relation in (4) is satisfied. We can obtain

 $f(\underline{u}, \overline{v}) \ge 0$ by taking $u_m \in (1/\beta, 1)$ and $v_m \in (0, \frac{1}{\alpha}(1-u_m))$.

 $= cr - u_m F e^{Fz} + [-u_m F^2 e^{Fz}]$

 $= -u_m F e^{Fz} [c_r + F]$

 $\geq 0 = \underline{u}_t,$ iff

Next we check that upon setting $\overline{v} = \frac{1}{2} v_m (1 + e^{\frac{TM}{\varepsilon}})$ for large positive *z*,that

$$\lim_{z\to\infty}\overline{\nu}(z)\in\left(0,\frac{1}{\alpha}(1-u_m)\right)\geq\frac{1}{\beta},$$

Fix F and choose M > 0 sufficiently large, such that

$$\underline{u}\left(\frac{M}{\varepsilon}\right) = u_m \left(1 - e^{\frac{FM}{\varepsilon}}\right) \ge \frac{1}{\beta}.$$
 (12)

Hence, for an appropriately chosen u_m and an arbitrarily chosen F, we require M to be chosen such that

$$M \le \frac{\epsilon}{F} \ln \left(\frac{\beta u_m - 1}{\beta u_m} \right) \tag{13}$$

We now consider the *v*-equation which ensures the second relation in (4) holds. For $z < -\frac{1}{T} \ln v_m$, $\underline{u} \equiv 0$ and $v \equiv 1$. Therefore,

$$c_r \overline{v}_z + \epsilon^2 v_{zz} + g(\underline{u}, \overline{v}_z) = 0 \overline{v}_t.$$

For $z > \frac{M}{\epsilon}$

$$\overline{v} = \frac{1}{2} \overline{v} \left(\frac{M}{\epsilon} \right) \left(1 + e^{S(z - \frac{M}{\epsilon})} \right) < v_m.$$

Since from equation (7), $u(z) \ge \underline{u}\left(\frac{M}{\varepsilon}\right) \ge \frac{1}{\beta}$ for $z \ge \frac{M}{\varepsilon}$.

By

$$g(\underline{u},\overline{v}) = \frac{\delta}{2} v_m e^{\frac{TM}{\varepsilon}} \left(1 - \frac{1}{2} v_m e^{\frac{TM}{\varepsilon}} - \beta u_m \right),$$

it follows that $g(\underline{u}, \overline{v}) \leq 0$ for any $\overline{v} \geq 0$ because $u_m \in (\frac{1}{\beta}, 1)$. Therefore,

$$\begin{split} c_{r}\overline{v}_{x} + \varepsilon^{2}\overline{v}_{zz} + g(\underline{u},\overline{v}) &\leq c_{r}\overline{v}_{x} + \varepsilon^{2}\overline{v}_{zz} \\ &= c_{r} \Bigg[\frac{1}{2}\overline{v} \Bigg(\frac{M}{\varepsilon} \Bigg) Se^{S\left(z - \frac{M}{\varepsilon}\right)} \Bigg] + \varepsilon^{2} \Bigg[\frac{1}{2}\overline{v} \Bigg(\frac{M}{\varepsilon} \Bigg) S^{2}e^{S\left(z - \frac{M}{\varepsilon}\right)} \Bigg] \\ &= \frac{1}{2}\overline{v} \Bigg(\frac{M}{\varepsilon} \Bigg) Se^{S\left(z - \frac{M}{\varepsilon}\right)} \Big[c_{r} + \varepsilon^{2}S \Big] \\ &\leq 0 = \overline{v}_{t}, \end{split}$$

iff

 $c_{r} \leq -\epsilon^{2}S. \quad (14)$ In the case $z < \left(\frac{M}{\varepsilon}\right)$ and $\overline{v} < 1, i.e. -\frac{1}{T}\ln v_{m} < z < \left(\frac{M}{\varepsilon}\right)$, we have that $\overline{v} = v_{m}e^{Tz}$.

Note also that for all $0 \le u, v \le 1, g(u, v) \le \delta v$. So, in this case,

$$\begin{split} c_r \overline{v}_x + \varepsilon^2 \overline{v}_{zz} + g(\underline{u}, \overline{v}) &\leq c_r \overline{v}_x + \varepsilon^2 \overline{v}_{zz} + \delta \overline{v} \\ &= c_r \left[v_m T e^{Tz} \right] + \varepsilon^2 \left[v_m T^2 e^{Tz} \right] + \delta \left[v_m T e^{Tz} \right] \\ &= v_m T e^{Tz} \left[\varepsilon^2 T^2 + c_r T + \delta \right] \\ &\leq 0 = \overline{v}_t, \end{split}$$

iff $\epsilon^2 T^2 + c_r T + \delta \le 0$. By solving this quadratic equation, we get $T_- \le T \le T_+$ where

$$T_{\pm} = \frac{1}{2\varepsilon^2} \left[-c_r \pm \sqrt{c_r^2 - 4\varepsilon^2 \delta} \right]$$

We need T_{\pm} real so the smallest c_r can be is $2 \in \sqrt{\delta}$ at which point

$$T_{+} = T_{-} = -\frac{c_r}{2c^2} = -\frac{\sqrt{\delta}}{\varepsilon}$$

Also, as from (6) and (9) we require $c_r \le \min\{-F, -\epsilon^2 S\}$, we may set

$$-F = -\epsilon^2 S = c_r$$
, *i.e.* $F = -2\epsilon \sqrt{\delta}$ and $S = -\frac{2\sqrt{\delta}}{\varepsilon}$. Finally, *M* is given by (8)

and hence we find that the choice of u_m and v_m and thus M does not affect thewave speed. Hence, we have shown that the right solution

$$c_{r} = 2 \in \sqrt{\delta},$$

$$\underline{u} = u_{m} \max\left\{1 - e^{-2\varepsilon\sqrt{\delta}\varepsilon}, 0\right\},$$

$$\overline{v} = \begin{cases} \min\left\{v_{m}e^{-\frac{\sqrt{\delta}}{\varepsilon}z}, 1\right\}, & z \leq \frac{M}{\varepsilon}, \\ \frac{1}{2}\overline{v}\left(\frac{M}{\varepsilon}\right)\left(1 + e^{-2\frac{\sqrt{\delta}}{\varepsilon}(z-\frac{M}{\varepsilon})}\right), & z > \frac{M}{\varepsilon}, \end{cases}$$

80

Ali.H

is in some sense optimal: c_r is an upper bound for the wave speed of travellingwaves of (1) and $2 \in \sqrt{\delta}$ is the lowest upper bound in this case. Note that for any $\epsilon > 0$ the profile $(\underline{u}, \overline{v})$ remains in both components at a positive distance from $S_+ = (1, 0)$ for all z > 0.

Furthermore, $(\underline{u}, \overline{v})(z) = (0, 1)$ for all z < 0. Thus, any initial data (u_0, v_0) of problem (2) with $(u_0, v_0)(z) \rightarrow (1, 0)$ as $z \rightarrow \infty$

can be shifted to be comparable with $(\underline{u}, \overline{v})$. This implies that no travelling

wave solution of (3) can travel at speeds faster than the comparison solution, *i.e.* $c_{\epsilon} \leq c_r = 2\epsilon \sqrt{\delta}$.

ii) *Left solution*. Following [4] we define the left solution:

$$\underline{c} = c_t,
\overline{u} = \begin{cases} \min\{u_m e^{Rz}, 1\}, & z \ge M, \\ \frac{1}{2}\overline{u}(-M)(1 + e^{P(z-M)}), & z < M, \end{cases}$$

$$\underline{v} = v_m \max\{1 - e^{Qz}, 0\},$$
(15)

as shown in Figure 2, where $R \ge 0$, $P \ge 0$, $Q \ge 0$, $M \ge 0$ and $c_l \le 0$ are constants to be determined. We seek values of R, P, Q and M, that give the smallest value of c_l , *i.e.* the sharpest left bound on the wave speed.



Figure 2: The left solution $(\overline{u}, \underline{v})$, shown in (blue, red) and the solution (u, v) of system (2) shown in black.

First, note that $\overline{u}_t = \underline{v}_t = 0$. Hence we must choose u_m and v_m so that $g(\overline{u}, \underline{v}) \ge 0$,. We have $g(\overline{u}, \underline{v}) = \delta v_m (1 - v_m - \frac{\beta}{2} u_m e^{-RM})$, it follows that $g(\overline{u}, \underline{v}) \ge 0$, by taking $v_m \in (\frac{1}{\alpha}, 1)$ and $um \in (0, \frac{1}{\beta}(1 - v_m))$.

Next we check that upon setting $u = \frac{1}{2} u_m (e^{-RM})$ for large negative z, that

$$\lim_{z\to\infty}\overline{u}(z)\in\left[0,\frac{1}{\beta}(1-v_m)\right].$$

Fix Q and choose M > 0 sufficiently large, such that

$$\underline{v}(-M) = v_m \left(1 - e^{-QM}\right) \ge \frac{1}{\alpha}.$$
 (16)

Hence, for an appropriately chosen vm and an arbitrarily chosen Q, we require M to be chosen such that

$$M \ge \frac{1}{Q} \ln \left(\frac{\alpha v_m}{\alpha v_m - 1} \right) \tag{17}$$

Equations (10) describe a left solution if we can find the constants R, P, Q and M satisfy system (10) and M > 0 such that $(\overline{u}, \underline{v}, c_l)$.

Next we ensure that the first relation in (5) is satisfied. First consider the

u-equation. For $z > -\frac{1}{R} \ln u_m$, $\overline{u} \equiv 1$ and $\underline{v} \equiv 0$. Therefore,

$$c_l \overline{u}_z + \overline{u}_{zz} + f(\overline{u}, \underline{v}) = 0 = \overline{u}_l$$

If $z \leq -M$ and M is sufficiently large, we have

$$\overline{u} = \frac{1}{2}\overline{u}(-M)\left(1 + e^{P(z+M)}\right) < u_m.$$
(18)

Since $f(\overline{u}, \underline{v}) = \overline{u}$ $(1 - \overline{u} - \alpha \underline{v})$ and $\underline{v}(z) \ge \underline{v}(-M) \ge \frac{1}{\alpha}$ from equation (11) for

$$z \le -M$$
, so $f(\overline{u}, \underline{v}) = \frac{1}{2} u_m e^{-RM} (1 - 12u_m e^{-RM} - \alpha v_m) \le 0$ because

 $v_m \in (1/\alpha, 1)$. We deduce that

$$c_{l}\overline{u}_{zz} + f(\overline{u}, \underline{v}) \leq c_{l}\overline{u}_{z} + \overline{u}_{zz}$$

$$= c_{l}\left[\frac{1}{2}\overline{u}(-M)Pe^{P(z+M)}\right] + \left[\frac{1}{2}\overline{u}(-M)P^{2}e^{P(z+M)}\right]$$

$$= \frac{1}{2}\overline{u}(-M)Pe^{P(z+M)}[c_{l} + P]$$

$$\leq 0 = \overline{u}_{l},$$

iff

$$c_l \leq -P.(17)$$

For z > -M and $\overline{u} < 1$, it follows that $\overline{u} = \min\{u_m e^{Rz}, 1\} = u_m e^{Rz}$. Also, for all $0 \le u$, $v \le 1$, $f(u, v) \le u$. Hence in this case,

$$c_{l}\overline{u}_{z} + \overline{u}_{zz} + f(\overline{u}, \underline{v}) \leq c_{l}\overline{u}_{z} + \overline{u}_{zz} + \overline{u}$$

$$= c_{l} \left[\frac{1}{2} \overline{u}_{m}(-M) P e^{P(z+M)} \right] + \left[u_{m} R^{2} e^{Rz} \right] + \left[u_{m} e^{Rz} \right]$$

$$= u_{m} e^{Rz} \left[R^{2} + c_{l} R + 1 \right]$$

$$\leq 0 = \overline{u}_{l},$$

iff $R^2 + c_l R + 1 \le 0$. Solving this quadratic inequality, yields $R_- \le R \le R_+$ where

$$R_{\pm} = \frac{1}{2} \left[-c_l \pm \sqrt{c_l^2 - 4} \right].$$

As we are seeking $c_l \le 0$, this requires $c_l \le -2$. The sharpest left solution is therefore $c_l = -2$, and in this case R = 1.

Now consider the *v*-equation to ensure that the second relation (2.5) is satisfied. For z>0, $v \equiv 0$ so

$$c_{l}\underline{v}_{z}+\epsilon^{2}\underline{v}_{zz}+\delta\underline{v}(1-\overline{v}-\beta\overline{u})=0=\underline{v}t$$

For z < 0, we have

 $\underline{v} = v_m (1 - e^{Qz}).$ By the choice of u_m and v_m , $g(\overline{u}, \underline{v}) = \delta v_m (1 - v_m - \frac{\beta}{2} u_m e^{-RM}) \ge 0$, because $u_m \in (0, \frac{1}{\beta} (1 - v_m))$

Hence, we get

$$\begin{aligned} c_{l}\underline{v}_{z} + \epsilon^{2} \underline{v}_{zz} + f(\overline{u}, \underline{v}) &\geq c_{l}\underline{v}_{z} + \epsilon^{2} \underline{v}_{zz} \\ &= c_{l} \Big[-v_{m}Qe^{Qz} \Big] + \epsilon^{2} \Big[-v_{m}Q^{2}e^{Qz} \Big] \\ &= -vQ_{m}e^{Qz} \Big[c_{l} + \epsilon^{2}Q \Big] \\ &\leq 0 = \overline{v}_{l}, \end{aligned}$$

 $\operatorname{iff} c_l \leq -\epsilon^2 Q.(18)$

From (14) and (15), we now establish an upper bound for *cl*, we therefore require

$$c_l \leq \min\{-P, -\epsilon 2Q\}$$

Therefore, the sharpest left solution for the wave speed that can be obtained with this form of left solution is cl = -2. Hence, we have shown that the left solution

$$\begin{split} c_r &= 2, \\ \overline{u} &= \begin{cases} \min \left\{ u_m e^z, 1 \right\}, & z \leq -M, \\ \frac{1}{2} \overline{u} \left(-M \right) \left(1 + e^{-2(z+M)} \right), & z > -M, \end{cases} \\ \underline{v} &= \max \left\{ v_m \left(1 - e^{\frac{2}{\varepsilon^2} z} \right), 0 \right\}, \end{split}$$

is in some sense optimal, where M is given by (12).

Hence, *cl* is a lower bound for the wave speed of travelling waves of (1) and -2 is the largest lower bound in this case. Since *u* and *v* are uniformly boundedaway from 0 and 1, respectively, and $((\overline{u}, \underline{v})(z)) = (1, 0)$ for z > 0

we can always shift initial data (u0, v0) of problem (2.2) with (u0, v0)(z) \rightarrow (1, 0) for $z \rightarrow -\infty$ to be comparable with the left solution. We conclude $c_{\epsilon} \ge c_{l} = -2$.

2. Conclusion

In this chapter, we demonstrated that, for the CLV case at least, the bounds

of the wave speed given in [8] are optimal for the given left and right solutionpair. We have tried to find other right and left solutions in order to improve thebounds on the wave speed that is stated in Theorem 1. However, we could not find an alternative that would allow for the kind of explicit calculations done above. Notwithstanding this, the fact that the wave speed must be ≤ 0 in the limit as $\epsilon \rightarrow 0$ and that $c_{\epsilon} \leq C.\epsilon$ for some positive constant *C* for $\epsilon > 0$, will be very useful in the results to come.

3-Bibliography

[1] S. Ahmad and A.C. Lazer. An elementary approach to traveling front solutions a system of N competition-diffusion equations. *Nonlinear Analysis*, 16(10):893–901, 1991.

[2] S. Ahmad, A.C. Lazer, and A. Tineo. Traveling waves for a system of equations. *Nonlinear Analysis*, 68(12):3909–3912, 2008.

[3] W.C. Allee. *The Social Life of Animals*.Boston: Beacon Press, 2nd edition,1958.
[4] A.E. Douglas. *Symbiotic Interactions*.Oxford University Press, 1994.

[5] L. Edelstein-Keshet. *Mathematical Models in Biology*. Society for Industrialand Applied Mathematics, 2005.

[6] L.C. Evans. *Partial Differential Equations*, volume 19 of *Greduate Studies inMathematics*. American Mathematical Society, Providence, Rhode Island, 2010.

[7] J. Fang and X.Q. Zhao. Monotone wavefronts for partially degenerate reaction-diffusion systems. *Journal of Dynamics and Differential Equations*, 21(4):663–680, 2009.

[8] L. Han and A. Pugliese.Epidemics in two competing species.*Nonlinear Analysis: Real World Applications*, 10(2):723–744, 2009.

[9] A. Hastings, K. Cuddington, K.F. Davies, C.J. Dugaw, S. Elmendorf, A. Freestone, S. Harrison, M. Holland, J. Lambrinos, U. Malvadkar, B.A. Melbourne, K. Moore, C. Taylor, and D. Thomson. The spatial spread of invasions: new developments in theory and evidence. *Ecology Letters*, 8(1):91–101, 2005.

[10] Z. Li. Asymptotic behavior of traveling wave fronts of Lotka-Volterra competitivesystem. *Int. Journal of Mathematical Analysis*, 2(26):1295–1300,2008.

[11] H. Mehrer. *Diffusion in Solids: Fundamentals, Methods, Materials, Diffusion-Controlled Processes*. Springer, 2007.

[12] E.C. Minkoff. *Biology*. Barron's Educational Series, 2nd edition, 2008.

[13] J.C. Mirsa. Biomathematics: Modelling and Simulations. Imperial CollegePress, 2006.

[14] A. Okubo and S.A. Levin.*Diffusion and Ecological Problems: Modern Perspectives*. New York: Springer-Verlag, 2001.

[15] V. Volterra. Variations and fluctuations of a number of individuals in animal species living together. *In: Animal Ecology*, pages 409–448, 1931.

[16] J.H.V. Vuuren. The existence of travelling plane waves in a general classof competitiondiffusion systems. *IMA Journal of Applied Mathematics*, 55(2):135–148, 1995.32-42